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Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[ Ã̋[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 

%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[ Ã̋[˝ Âl˘‰y X∂ëˆÃ[˝ ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰ ¬̀Ã[˝ 

]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 

Special credit will be given for precise and correct answer. Marks will 

be deducted for spelling mistakes, untidiness and illegible handwriting. 

The figures in the margin indicate full marks. 

 

1. Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰ ¬̀Ã[˝ =w¯Ã[˝ ◊VX*  
 Answer any two of the following : 18 × 2 = 36 

 a)  'Policy as Structured Interaction' -Ac˜O V ◊rÙ„EıÁ„SÃ[˝ a]Á„_ÁªJÙXÁ]…_Eı ◊[˝‰ ¿̀bS 

EıÃ[˝”X*  

  Critically examine the view of 'Policy as Structured Interaction'. 

 b) Mixed Scanning ÂEı ◊aà˘Á‹ôˆ G–c˜„SÃ[˝ "T ˆTˆ›Ã^ Y‹öˆÁ' ◊c˜„a„[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X*  
  Discuss Mixed Scanning as the 'third approach' to decision 

making.  

 c) c˜O„Ã^„c˜a„Zı_ QŒˆ„Ã[ Ã̋[˝ ÂVCÃ^Á X›◊Tˆ ◊[˝p˚Á„XÃ[˝ =YÁVÁXm◊_ Eı› ?  
  What are the elements of policy sciences, as given by Yehezbel 

Dror ?  

  d) \ˆÁÃ[˝„TˆÃ[˝ X›◊Tˆ Y“◊y‘Ã^ÁÃ[˝ a›]Á[˝à˘TˆÁm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X*  
  What are the limitations of policy process in India ? 

2. Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰ ¬̀Ã[˝ =w Ã̄[˝ ◊VX *  
 Answer any three of the following : 12 × 3 = 36 

 a) X›◊Tˆ Y“◊y‘Ã^ÁÃ[˝ W˝ÁYm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
  Discuss the steps of policy process. 

 b) AÓÁ_‰[ –̋kÙ A[˝e ◊_] Â^ÁGÁ„^ÁG]…_Eı Tˆ„√º Ã̄[˝ =Y„^Á◊GTˆÁ ◊Eı\ˆÁ„[˝ [˝ÓÁFÓÁ Eı„Ã[˝‰ªK˜X ? 
  How does Albrecht and Lim explain the utility of communicative 

theory ? 
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 c) 'Discourse Framework' Eı› ? 

  What is 'Discourse Framework' ?  

 d) X›◊Tˆ [˝Áÿôˆ[˝ÁÃ^„XÃ[˝ Y“◊y‘Ã^Á %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  Discuss the process of policy implementation. 

 e) X›◊Tˆ ◊XW Ô̋ÁÃ[˝S Y“◊y‘Ã^ÁÃ^ Ã[˝ÁLÍX◊TˆEı YÃ[˝Á] ỒVÁTˆÁ„VÃ[˝ Eı› \…ˆ◊]EıÁ UÁ„Eı ? 

  What is the role of political consultants in policy making ? 

 f) X›◊Tˆ Y Ô̂„[˝l˘„S EıÁ Ô̂EıÃ[˝› XÁG◊Ã[˝Eı %e`G–c˜S aÁW˝X EıÃ[˝ÁÃ[˝ LXÓ Y“„Ã^ÁLX›Ã^ `Tˆ¤m◊_ Eı› ? 

  What are the necessary conditions for effective civic engagement 

in monitoring of policies ? 

3. Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªRÙO Y“‰ ¬̀Ã[˝ =w Ã̄[˝ ◊VX*  

 Answer any four questions. 7 × 4  = 28 

 a) LXYªK˜≥V TˆÁ◊√º̄ Eı„VÃ[˝ ◊EıªK«˜ a›]Á[˝à˘TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  Discuss some of the limitations of the Public Choice theorists. 

 b) 'Incrementalism' -AÃ[˝ È[˝◊`rÙÓm◊_ Eı› ? 

  What are the features of Incrementalism ? 

 c) LXX›◊Tˆ Y“SÃ^X„Eı _ÓÁaC„Ã^_ ◊Eı\ˆÁ„[˝ [˝ÓÁFÓÁ Eı„Ã[˝‰ªK˜X ? 

  How has Lasswell explained the making of public policy ?  

 d) X›◊Tˆ ªJÙ„y‘ 'Gatekeeper' -ÂVÃ[˝ \…ˆ◊]EıÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  Discuss the role of gatekeepers in the policy cycle. 

 e) 'Satisficing' [˝_„Tˆ %ÁY◊X Eı› Â[˝Á„MıX ? 

  What do you understand by 'Satisficing' ? 

 f) Legislative oversight Eı› ? 

  What is legislative oversight ? 

 g) =dYÁV (output) Ã[˝÷„Y X›◊Tˆ [˝Áÿôˆ[˝ÁÃ^X A[˝e Zı_ÁZı_ (outcome) Ã[˝÷„Y X›◊Tˆ 

[˝Áÿôˆ[˝ÁÃ^„XÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊XÃ[˝÷YS EıÃ[˝”X*  

  Distinguish between policy implementation as an output and 

policy implementation as an outcome. 

 h) LXX›◊TˆÃ[˝ ]…_ÓÁÃ^„XÃ[˝ Y“„Ã^ÁLX ÂEıX ? 

  Why is evaluation of public policy required ? 

    


